EARAROBEEIERT — 2 N— IBISH —F

2012128270 (k) 16EIEMH5H

Kl C2= C2= #5%3®L ‘ [X12] # ‘ [BeEmsh]  — | & () 1400M FE
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o AAfE :33. 74~ . — TR (EE)
17l g 52y an i 3 X 1(3_3)3 7-7-4-4 | 40.3 1 :1;0) )
L:Yrh—r B:Za—*0F« FRES
o 3 | ®R&E 1:33.4 9-9-6-6 |39.9| — 4 427 | =EEZ (ER)
2|gl10| K7 A MV # 54.0 ) @) | B A=24F
L:7RKvqv¥av—-> B o1 —% BREHS
. NN EEHET : 00— — FEMEUA (FER)
3 6 Hra4—FXYK 4 3 54.% T 1(_33/%5 2-2-2-1 | 40.9 7 &5} e
LN YTLR=U BHYLa—FRVT L HR
N IRAFIH -3-5- — KRR (Fk)
ARRELEIIN Y H 3 s (11.313/.5 4-3-5-5 | 41.2 2 <4+718) ﬁ;%z
RV TATYL LR BiX—TILXFx— 2B
— o FHE+ :33. -1-3- . — HAFIERS (FEiH)
5 o | RAF 4 =17~ 4 4 FEx 1(733@9 1-1-3-2 | 41.3 8 :1_722) iéwﬁ;e
L:d—IR7Va—-) B:AFXvtEL—% NSRS
. 3 4 | TEEE 1:34.0 5-5-1-3 | 41.2| — 6 | 520 |BE—F (FEl)
617 7| 7RI =T N B 5.0 (7€) G | ) Tr—xbEva
R:TFv k-0 B:A*XFATHFAT ERXT7—L
N — JNERE— : -8-9- — FEMHEUA (FER
7 4| RRAX v Z X 'S 56.0 (11314/4% 8807 1405 s f; E%é%ﬁ%
L7 RIAYRX BT7AT5RI— pliETae]
N 78 [t . -10-10- - RIRK (BR)
8 3| Ty -TU- 43 2 (17.3;3) 10-10-10-10 40.0 5 ;1+375) o o
R:O-S XA 414 B:/—Thx07¢— 45
— M2V PN :34. —4-7- . — HERS (EE
9/8|9 AJ4—=bHTTI i 54.0‘( (11 314/24) SaTs a2 ? :_626) HEFMK
LR F 21— BNISURBIF HE WS
o o L i :34. —6-8~ . — IO#E (k)
10/5|5| 7TV AT 4 3 S (11314/27) 6-6-8-9 | 41.5 10 (4_459) R
R:T7T2A8%4L B:YZAb—> (B) #HAEaA-FKL—Ya>AE77
® 1—F—@EBIERL
1T=7r= 2,6,9,1,7,5,8,4,10,3
2a=5F= 2,6,1,9,7,5,8,4,10,3
Ja=5= 7,6,2,8,1,10,9,5,4,3
43—+ — 6,2,7,8,1,10,4,9,5,3
[ /N
B 8 1909 714K 8-10 310 e E 7-8 400 JEE 6-8-10 1,730
B B 8 1204 6-8 290M B = 8-10 800M JEE 8-10-6 4,900/
10 180H4 6-10 840M B H 8-10 880M
6 170

ABICOVWTRDTEEERROODE. TR LIV,




